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KOH (aq) + HCOOH (aq) — HCOOK (aq) + H»0()
pH=12.3 , pOH +pH =14 , pOH=14 -12.3=1.7
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?m mol HCOOH =30 mL KOH x = 0.6m mol HCOOH

0.6 m mol

? mol/L HCOOH = = 0.01 mol/L HCOOH
60 mL
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2Al (s)+6 HCl (ag) — 2 AICl3 (aq) +3 H2 (g)
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?m mol HCl =56 mL H; X;;;OLI Zi X 63:’:;117;;1 =5mmol HCI
2 mol /L HCl= 2™™°L_ 02 mol /L HCI
250 mL

[H']=[HCl]a ,[H']=0.02x1 =0.02 mol/L

pH= - log [H*]= - log 2x102 =2-0.3=1.7
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[H*]=10"" =103

[H]=[HAl@ , 10%=[HA]10% , [HAJ=="= = 0.01"‘7‘“

=[H][A] _ 0.001x0.001 _ OOOOllm_ol
[HA] 0.01-0.001 L

Ka




